
1) (-10) x (-2)

Answer: ____________

2) b

a o c
Measure angle boc

Answer: ____________

3) An amount was decreased by 7.6% to 
$84.00. Find the original amount.

Answer: ____________

4) 28/9 ÷ 68/9

Answer: ____________

5) 12/11 x 1/8

Answer: ____________

6) An amount was decreased by 10% to 
$452.00. Find the original amount.

Answer: ____________

7) Find perimeter of 
square having each side 
(s) equals 9 m

Answer: ____________

8) 9/11 x 4/9

Answer: ____________

9) Convert the following fraction into a 
mixed number: 15/7

Answer: ____________

10) Find perimeter of 
square having each 
side (s) equals 37 cm

Answer: ____________

11) Find the range of the following set of data:

2, 5

Answer: ____________

12) (-77) - (-92)

Answer: ____________

13) 6 + (-72)

Answer: ____________

14) Decrease 40 by 1/10

Answer: ____________

15) 95% of 50

Answer: ____________
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16) 5/12 x 10/12

Answer: ____________

17) 56 / 518

Answer: ____________

18) 8 x (-30)

Answer: ____________

19) m18 / m11

Answer: ____________

20) (48)13

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 138 3) $77.62 4) 13/31 5) 3/22 6) $406.80 7) 36m

8) 4/11 9) 21/7 10) 148cm 11) 3 12) 15 13) -66 14) 36

15) 47.5 16) 25/72 17) 5-12 18) 19) m7 20) 4104
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